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Instructions ;

1 Al questons are compuisory. ,

11} This question paper has nwo parts ‘A’and ‘B’ _

i) Part A’ contains 20 multiple choice type questions of 1 mark each
that have to be marked on OMR Answer Sheet.

Iv)  After giving answer on OMR Answer Sheet, do not cut it and do not
use eraser, whitener etc.

v)  Part ‘B’ contains detailed answer tyvpe questions of 50 marks.

vi} Total S questions are there in this part.

Vi) In the beginning of each question it has been mentioned how many
parts of it are to be attempted.

viii) Marks allotted to each question are mentioned against it.

ix) Start from the first question and go up to the last question. Do not
waste yvour ume on the question you cannot solve,

X) If you need place for rough work, do it on left page of your answer-
book and cross ( x ) the page. Do not write any solution on that
page.

xi) Do not rub off the lines constructed in the solution a question of
construction. Do write the steps of construction in brief, if asked.

xii) Draw neat and correct figure in solution of a question wherever it
is necessary, otherwise in its absence the solution will be treated
incomplete and wrong.

qug - H
Part-A

( Fegfameag v )

( Multiple Choice Type Questions )
1. Wod 9@ L 57 syvew waR frefeten § @ few e e § aw

2°x3
FEE & ?
(A) 1 (B) &
(C) 3 (D) 4 | ' 1
1. The decimal expansion of the rational number -2—2%—5- will terminate after

which number of places of decimal ?

AV (B)

() 3 (D) 4 1
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5 (-3, 5) ® y-71 9 38 @R

(A) -3 B 2~

€) 5 (D) | W FIE Tl 1
The distance of the point (- 3, 5) from y-axis will be

(A) -3 (B) 2

< S (D) nonc of these 1
WA 144 F AT OFETS § 0T ToEUS] 9 HTAT H AR G

(A) 3 (B) 4

€ S | (D) 6 1
The sum of powers of prime factors of the factorization of the number 144
will be

(A) 3 - B 4

(C) 5 (D) 6 1
f&m T & FoWo (132, 288 ) = 3168, Tl HoWo (132, 288 ) BT

(A) 288 B) 132~ : -

(C) 48 (D) 12 1
Given that LCM of ( 132, 288 ) = 3168, then HCF of ( 132, 288 ) will be

(A) 288 _ (B) 132 ~

(C) 48 . (D) 12 1
i fgenrd T 3x2 -12x+m=0 m":ﬁ'W%’. Gl mﬁﬂ"ﬁﬂﬁ"ﬂ

(A) 4 B) 7

© 9 (D) 12~ 1

If the roots of the quadratic equation 3x?-12x+m=0 are equal, the

value of m will be

(A) 4 (B) 7
) 9 (D) A2~ .
HHIBOT 552 - 3x+2=0 & oAl &1 T &M .
3 ‘ -3
(A) 3 (B) =
2 D) -2
(C) 5 (D) »-_55{ 1
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6. The sum of the roots of the equation 5x* - 3x+2=0 will be
/ 3 3
) 5 (B) vy
2 2
© £« o -% 1
7. O FHIEHOT x+2y=70 3R 2x+?\.y=353ﬂ$\i§ﬁqﬁ%qﬁ 7. 1 HIF
Rull
1
@ (B) %
(C) 2 - (D) 5/ 1
7. The simultaneous equations x+2y=70 and 2x+2.y=35 have no solution
if & will be
1
A) 4 1
(A) 2 (B) 2
€ 2 (D) \/ 1
8. fagat A(-4,2) AW B(s,6) T WY T T@ETE T Wy fa=
P(%, 4) €1 q &1 917 &
(A) -8 (B) -4
©) 2o/ D) 4 1
. ( a . 3 . .
8. Point Pkg, 4) is the mid-point of the line segment joining the points
A(-4, 2) and B(5, 6). The value of a will be
(A) -8 B) -4
(€ 2 (D) 4 1
9. @1 fax A B[ ABC % aWR BC ¥ WoARR TaEmEve PQ W T &
AT PQ: BC=1:3, A APTH PR U BT
A
p Q
B c
(A) 1:4 B) ' 1:3
(C) 1:2 (D) f/'i 1
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In the given ﬁgure base BC " PO is drawn in AABC . If PO: BC=1:3, the
ratio of APand PB will be R
P Q
B C
(A) 1:4 (B) 1.3
C) 1:2 (D) 2.3 1
10. fqe ABC § ok AB =6J3 ¥, AC = 12 ¥ @ BC = 6 ¥ &, A LBl
T B
(A) 120° (B) 90°
JS)60° (D) 49 1
10. In AABC if AB =643 cm, AC = 12 ¢cm and BC = 6 cm, then measure of
ZB will be '
(A) 120° (B) 9&°.
(C) 60° (D) - 45° 1
11. 3 AT T & &9%el @ UG 16 : 25 &1 Sl & 9d st =
3QT BT
(A) 5:4 | (B) &5 _
(C) 3:5 - (D) 16:9 1
11. Areas of two. similar triangles are in the ratio 16 : 25. The ratio of
corresponding sides of the triangles will be
(A) 5:4 (B) 4:5
(C) 3:5 (D) 16:9 1
12. ‘T4 § AB= 3 9, AC= 6 ¥, BD =2 9 3R cp =4 N a ,Bap 3R
£CADS! 31T &I
3 9 6 |
B D adm  ©
(A) 2:4 B) 1:1
(C) 3_: 6 (D) 6:3
)
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127 In the figure, AB= 3 cm, AC= 6 cm, BD = 2 cm and CD = 4 em, The rayjg
of ZBAD and ZCAD will be

3 em 6 cm

2cmp 4cm ¢

A) 2:4 B) 1:1

(C) 36 | (D) 6:3 1
13. SP31° o or d

cos 59°

@ -1 B 0

(C}/ (D) 2 1

13. The value of Sin31° will be
c0s59°
A -1 B o

© g - D) 2 | !
14. fo d, fg o1 fagall awr pH 3@ R Wﬁmﬁwaﬁ

A P

/6(f<

45

O - 5 o]
(A) 30°, 45° ~ (B) 45° 30°
(C) 45°, 60° D) T R HE T 1

03000/40
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14, In the figure, the angles of depressions of point O as scen from points

A and Parc

A P
45
@) B 0

(A) 30°, 45° (B) 45° 30°

(C) 45°, 60° (D) - none of these . 1
15. @R U g9 % Gy AR kel SEEE T X GAF &, o 39 I i G

Gl

(A) 2 TGH ~ (B) nHAE

(C) 4 Wk (D) 7 W&+ 1
15. If the circumference and the area of a circle are numerically equal, the

radius of the circle will be

(A) 2 @rt/s‘- _ (B) = units

(C) 4 units (D) 7 units. 1
16. TE 3N g % g forant R o Tt x 8 T x 2 F €, Y fmerY 2 7w

T R T &1 39 YHR 9 T a6 GE g

(A) 18 (B) 12

(C) 16 D) 24. : 1
16. The dimensions of a metallic solid cuboid are 9 m x 8 m x 2 m. It is

melted and recast into cubes of dimension 2 m. Thus the number of

cubes so formed will be

(A) 18 . B) 12 _

(C) 16 (D) 24 1
17. Frefefiaa wiftolt 7 =ex &

ryp— 0-10 10-20 20-30 | 30-40 | 40-50
. 4 5
SRS 6 4 1

A) 20 . B) 205

(© 215, D) 22
03000/40 | Turn over

7 822(DX)

https://www.upboardonline.com




822(DX) 8

17. The mean of the following table will be :

Class-interval 0-10 10-20 50-30 | 30-40 | "40-50 |
Frequency 4 5 6 4 1
(A) 20 (B) 205

(C) 21-5 (D) \fy L l
18. ok A T afiwel = wARR W ol wgers w28 AR 16 €, @ T

(A) 22 (B) 235

€ 28/ (D) 245 1
18. If the arithmetic mean and mode of the given data are 28 and
: 16 respectively, the median will be

(A) 22 (B) 235
(C) 24 - (D) 245 1
19. fAfafad SRR s #1 TG ot e
N — 1-3 3-5 5-7 7-9 9-11
&) 1-3 B) 38  (© 5-7 (D) 7-9 1
19. The modal class of the following frequency distribution will be
Class-interval 1-3 3-5 5-7 7-9 9-11
Frequency 7 8 2 2 1
(A) 1-3 (B) 3 \?} € 5-7 (D) 7-9 1
20. [T=fofEn sieRar de7 = wiftger ot @
it A 0-10 | 10-20 | 20-30 | 30-40 | 40-50
THERAT 4 5 13 20 8
(A) 40-50 (B) 30-40 (C) 2\0/-30 (D) 10-20 1
20. The median class of the following frequency distribution will be
Class-interval 0-10 10-20 | 20-30 | 30-40 | 40-50
Frequency 4 5 13 20 8
(A) 40-50 (B) 30-40 (C) 2030 (D) 10-20 ]
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e -
Part - B
( forem T WA )
( Detailed Answer Type Questions )
1. witEssfm:
Mﬁﬂﬂﬁq% J3 & ity Wem & 2
(b) W tan(A+B)=1 AT tan(A-jB)=%, 0°< A+B<90° @l AR B&
A I ST 2
€ N EA R R T B ST 64 ¥ ¥, % W wor! e TR
AT ST S § | T B 7 U9 S { S 2
{4y FrefafEa wrelt @ wierd wd i 2
T A 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
FREERAT 7 12 18 15 10 3
(¢ fagalt (1,-5) 3R (-4, 5)F Wer Tt t@ETE H W FR
ferviivra & oot fog o1 Fdwrier s ST 2
n fag A & v 7 #ifa, & AB ©F g9 &1 =W ¢ fasr %
(2,-3) € B Frewish (1,4) 81 5
1. Do all the parts :
(a) Prove that J3 is an irrational number. 2

(b) If tan(A+B)=1 and ta.n(A—B]=%, 0°< A+B< 90°, find the values

of A and B. 2
() Two cubes each of volume 64 em? are joined end to end to form a
cuboid. Find the total surface area of the resulting cuboid. 2
: [iJ/F'.nd the median from the following table : 2
Class-interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency 7 12 18 15 10 3
03000/40 [ Turn over
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() Find the co-ordinates of the point divided by
S<¢gment joining the points ( 1, - 5) and (- 4, 5 ).
(Mnd the coordinates of the point A, where &

10
coa-nxis to the line

Ry
A3 s the dinmeter of y

. . » . b . R , -y
circle whose centre is ( 2, - 3 ) and the coordinates of Bare (1, 4). 2

2 J-ﬁﬁfﬁﬁﬂﬁﬁﬂﬁw:

(a)

(b)

k T W T ST FTe forg geleeor ox + Ay = 1 3R 3x - Sy = 7 W
T& T & & 1
frfefan Tl & g ) sw-pem fafr @ oo wifag

2x+3y-46=0
3x+5y-74=0 4

4 F araer A fambs

() 7-6 VFl T TH Y@rEvs @ifar AR W 3
w1 2 sl o g o
(d) cosB=-§,ﬁT sin@cos 0+ tan? 0 F WA AR HfT | 4
() Fr=fefad siarar wrRol § ro1 7 T ;RTw Al faenfat & waie! @
o 25 % 1
B IED 0-10 10-20 | 20-30 30-40 40-50
fqenferat =t den 6 f 6 10 5
( Frefefed sRars arol ¥ woe a@ i 4
T A | 0-20 | 20-40 | 4060 | 60-80 80-100 | 100-120 | 120-1.10
CRCILGI 6 8 10 12 6 5 3
2. Do any five parts :
(a) Find the value of k for which the equations 2x + Ky = 1 and
3x -5y =7 have a unique solution https://www.upboardonline. com 4
(b) Solve the following ‘pair of equalmns using cross- ~multiplication
method :
2x+3y-46=0
3x+5Yy-74=0 4
03000/40
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(©)  Draw a line segment of length 740 e nnd divide It in the ratio 32 4.

Write the measuren of both the two party, 4

() I cont- .' , ind the vatue of ainOcont v tan? o
]

1

(¢)  Find the value of flrom the following frequency table if 25 in the

mean of marks obtained by the studenty

4
Marks obtained 0-10 | 1090 | 2000 3010 A0-50
No. of studonts O _T | (, I |;[l ) )
() Find the mode of the following data ¢ d

Class interval 0-20 20-40 40-64) 00 -80 |

s s = e s r—

Frequencey O i 10 12

§) h 3

80 mn.\ 100-120 | 120-140

T e e

3. Fiafabaa witaror qor w we Wk

2’.4..3-_-;]]' .{_"._.E_ir,*; O
X Yy X

raar
w et - @ el R, SEoud st ¥ 1 sl fe sman ¥ sl "'; e sl &,
o T e W 1 g swen &) g Beoga @R O

3. Solve the following pair of equations ;
§_+3=|1. 4_5_9 O

X Yy X Yy

OR
A fraction becomes L when 1 is added to the numerntor and it hecomes
% when 1 is subtracted from its denominator. Find the firaction, (5}
4. UF OET @ FA 15 e ¥ aRT F i} ugw & qud ek W wem &
it 7 YT W0 300 T AR & T S ST i 450 ¥ fawp @ B
W ) F 5(344/3) AT T 6

NYar '
e e % v @ Uk e & Y A W0 6ot ¥4 e & ol R ww
L

& U g aEEEA A 450 1 AR T E S a0 e ¥, @ R aliem fe
o 7 S 20(/3-1) W ¥ 6
03000;40 | Turn over
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4. The height of a temple is 15 metre. From the top of the temple, the angle
of elevation of the top of a building on the opposite side of the road is 30°
and angle of depression of the foot of the building is 45°. Prove that the
height of the building is 5(3++3) metre. 6

OR
From the top of a building, the angle of elevation of the top of a tower is
60°. From the top of the building, the angle of depression of foot of the
tower is 45°. If the height of the tower is 40 metre, then prove that the

height of the building is 20{~/§-—1] metre. 6

5.0 @aﬁwﬁ%mm%wﬁ@wwm%aﬁﬁw
ARG &1 3G Fwolct F1 THYS a4 Vp 1 HHYS WA &, af i i

B 3t SR &1 S e i 6
rerat

12 ¥, 16 Wt 3T 20 VAl =AW a1 U & A NG Tiiel Bl g UF 319

TSl ST ST ¥ 1 39 31 TS T S T HR) 6

S. A solid is in the shape of a cone which is surmounted on a hemisphere of
same base radius. If the curved surfaces of hemisphere and cone are
equal, find the ratio of radius and height of the cone. ' 6

OR
A solid sphere is made by melting the three metallic solid spheres of

diameters 12 cm, 16 cm and 20 cm. Find the diameter of this solid
sphere. ' 6

rl
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